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monika kumari 4 days ago

Real Champs- (ol

Thank you sir
Very nice session

f51 CJ  Reply

v ™)« 1reply

Tanisha p 4 days ago
Thank u so much sir 4, time and work ki basic cls amazing thi sir apse request hai ki ase hi train or boat and stream

ka bhi basic karvaeiy ga
Home work.  (25)

f5 1 CJ  Reply

w (=)« 1reply

Tanu Jain 4 days ago
Homework Ans is opt ¢ = 25
Thank you sir for this wonderful session

f51 CR  Reply

v |7/« 1reply

Surbhi Sinha 4 days ago
Homework question answer - 25 thank you sir <« brilliant session sir




harsh sharma 4 days ago

Real Cha m ps- Today's homework answer is 25

Amazing sessions thank u so much sir

o5 1 L H Reply

= 1 reply

Shruti Agarwal 4 days a
Thank you sir

1 oh

Mitu Maurya 4 days ago

Hw ans 25
Thanku sir for amazing session

o5 1 L H Reply
= 1 reply
Sarrta Maurya 4 days ago
Home worlk question ka answer

o5 1 L H Reply

= 1 reply

25 hoga

Arjoo Srivastava 4 days ago

H.w answer is option C-25




Real Champs-
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Kajal sSsinghal
Home work ans

1 reply

rNMiharika Jha 4 days
Homework answer :
-—r T Reply
= 1 reply
Aalap 4 days ago
HwWwW AMNMSWER: 25
oY =2 . Reply
= 1 reply
Zikra Yasmean <4 days
Answwer 25

Reply

reply




A does half as much work as B in 3/4th of the time. If together they take 10 days to
complete a work, how much time shall A take to do it alone?

A, BT 3T B 3/4 TAT H Xl | I I T AT Th d Bl Q@ &R A 10 5 o &,
dl AT 38 3{hel QU A H el FHAT oFM?

1.15
2.20
3.25
4.35
5.NOT




If A and B together complete the work in 5 days. If A work twice and B work 1/3 of
their efficiency respectively, then same work will be done in 3 days then find in how
many days B alone complete the work?

Ifg AR B AR & &l 5 &l # QU id &1 IS A U BIASTHAT Bl FAA: &I IR
3R B 3UAT HRASTHAT Pl 1/3 BRI AT &, I 38T B &I 3 fear d qur fhar seen dar B
bl Y Al fohdal Gl & QU dear &7

1.15
2.20
3.25
4.30
5.NOT




A complete half as much work as B in equal time. C complete half as much work as
A and B together in equal time. If C alone can complete the work in 40 days. Then

in how many days they all together complete the work ?
ATATT AT A BT Joledl H 3TUT HIHA Al & CHAT THAT H AR B HY HIHA Al Th

QY QU AT &1 Ife € 3rchel BRI Bl 40 &l # QI T FhaT &1 d & G ATy
fhaer et & g o &2

1.60
2.120
3.40
4.80
5.NOT




3 men A, B and C complete a work in such a way that A works for all the days, B
works for 1° and 2"! day and C works for 3'¢, 4™ and 5™ day. If B and C together

can do as much work in 2 days as A alone does in 3 days. In how many days B alone
complete the work if B and C together can complete the whole work without the

help of A in 6 days?

3 fth A, B3R CTP PR &l 3H YR ¥ QU hd & [ AFM &l & forw & &an g, B
Ugel 3R @Y & & &ar & 3R cdiay, 1Y 3R urad e o &ar &1 Ifg B3R ¢
fATTRT 2 feaat & 3aaT PTH BT bd & TordelT A3Thol 3 &t & HXar &1 B 37hel I ol
fopcter feelt & g oear & Ife B3R AT A HErrar & a1 U & &l 6 feat d q@

Y Thd &7

1.9
2.18
3.12
4.24
5.NOT




If 51 men can do a work in 8 days when they work 12 hours per day. Then in how P\
many days 34 men complete the half of the work if they do work 24 hours per day ?

Ifg 51 QoW Th b1 hl 8 Gl H B Tohd & 9 I Ufd T 12 g9¢ & X & d 34 oW
fhdal et H 3T 1A dl QU ™ & Iig 9 Ufd G 24 ¢ BIA Hd 82




A contractor undertook to dig a canal of 12km long in 350 days and employed 45
men. After 200 days only 4.5km work was completed. How many more men should
he employ to complete the work on time?

Uh ShGR o 350 TGal H 12 fhaAT & A Wiged Pl DA TohaT 3R 45 GOUl Dl HIA W
T@r| 200 Tl & d1g dhaot 4.5 fohall &1 P QU T3 PR B FHIT W QT A & v 38

fordar 3R goul o1 fAgd e arfeu?




If 28 man can complete a work in 18days. They started the work and after 5 days 2
man left the work then find in how many days the remaining work will complete?

gfe 28 <afth T S Al 18 &l # QU HT Hhdl &1 Seaied B Y& fhar 3R 5 &l &
diG 2 AP HIH B3 T &, ) Ad Piord 6 AV FF fhaar feat & @ geme?

1.18
N
3.16
4.28
5.NOT




If 36 man can complete a work in 12 days. They started the work and after 4 days
12 man join the work then find in how many days the remaining work will

complete?
gfe 36 M Teh I A 12 el # QU &Y Fhd &1 Seeld b A& fhar 3R 4 feal & arg
12 Ak B & MiFS & I &, d A1d HifTd 6 dw wF fhda f&at # @ ghom?

1.4
2.8
3.5
4.6
5.NOT




A team of 30 men is supposed to do a work in 38 days. After 25 days, S more men
were employed on work and then work is completed one day earlier. How many
days would it have been delay if S more men were not employed?

30 QENT I Teh EH Pl Th HrA Al 38 &l # wr B 25%???35%,53#1?2?&?@
A U TN I1A7 3 T A1 T T Ugel QU & Sl &1 Il 5 3R Goul &l e
el fopar Srar @ s@d fhasr o fr e grd?

1.2
2.1
3.3
4.4
5.NOT




If 3 man or 6 woman complete a work in 16 days. Then find in how many days 12

man and 8 woman complete the same work?

Il 3 QIW AT 6 AfGATT Teh bR Pl 16 TGl A QT A &1 al < hiford 6 12 gew 3R 8

AT 38 FF A fhda Rl & @ & 2

1.3
2.5
3.6
4.4
5.NOT



If S man complete a work in 6 days while 10 woman complete the same work in 5

days. Find in how many days 3 man and 5 woman do it?

aﬁSWUEﬁszra;‘reﬁ?ﬁﬁ I & i 10 AfgTT 38 d &l 5 f&adt A qu

aﬂ?ﬁ%lmzﬁrﬁlﬁﬁﬁ3w3ﬂ¢5ms@ﬁmﬁrﬁﬁﬁtmaﬂﬁ%?

1.4
2.5
3.8
4.9
5.NOT



A man and a boy can complete a work in 24 days. If for the last 6 days boy alone
does the work then it is completed in 28 days. In how many days man alone will

complete the work?

Th G 3R Tdh d5dh Tk drA & 24 fear F Q@ & T ¢ Ifc TS 6 gl @ asan
mﬁmﬁm%ﬁmzsﬁﬁwam%lmmmaﬁﬁmﬁﬁﬁ
qn ?

1.18
2.20
3.24
4.36
5.NOT




It 36 man complete a work in 24 days. They started the work and after S days 6 man =Y
are replaced with 24 woman then find in how many days the remaining work will be
complete? Efficiency of woman is 1/3" of the man.

Iig 36 <Tfth Teh BRI Bl 24 &l H QU Id &1 Seeld B AF 6T 3R 5 &l & a1g 6
WﬁmaﬁﬂmﬁﬁuﬁwﬁﬁmmﬁﬁwzﬁﬁgﬁﬁQmmﬁﬂﬁﬁﬁ
Q0 & SEn? Afgelr H GaTdr gy &r 1/3 T

1.12
2.18
3.17
4.19
5.NOT




If 10 man or 20 woman or 40 boys can complete a work in 7 days then find in how
many days S man, 5 woman and 5 boy complete the same work?

Ife 10 QY AT 20 ARATT AT 40 &5k Teh H A 7 f&Al A QU X Fha & o 1 Ao
fef 5 gou, 5 AfRel 3R 5 o5 3T HI Pl fhdal Gl # QU AL §2

1.7
2.6
3.8
4.9
5.NOT




If 2 man complete a work in 3 days while 3 woman complete this work in 4 days P\
while 4 boys can do this same work in 6 days. Then find in how many days 1 man, 3

woman and 2 boys complete the work?

uﬁzwwaﬂ?ﬁaﬁ3ﬁa’rﬁ d & STdich 3 ATGTT SH DA Bl 4 &t #H QU BT
%01mq~»4<>15qv?>@raﬂ'éraﬁ6ﬁ\7—l’rafr P Hehd &1 ar A HIfSD 6 1 g0, 3 Higell
ﬁzaﬁmﬁaﬁﬁmﬁmﬁwm%fz

1.1
2.3
3.4
4.2
5.NOT




A started a work and left working 4 days. B finished the remaining work in next 18
days. Had A left the work after working for 6 days then B would have finished the

remaining work in next 12 days. Then find in how many days A alone complete this

work ?

A Th BRI Y& fhar 3 4 & FRI HEr BIs GATI BA AW BRI &l 30T 18 feadl & qu
pY Torar| Ife A 6 ool o T 1A Al o dIc BIH Sig AT &1dT, ol B AW HIH &l
39Tl 12 AT 3 QAT &R oidT| af A1 diiord o A 3hel 30 B &I fohdel GaAt 3 @T aar

&7

1.10
2.20
3.15
4.30
5.NOT







